
1 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

 
 

SSC CHSL-CGL Reasoning Mega Quiz  (Solutions) 

 

S1. Ans. (b); 

Sol. 

 
 

S2. Ans. (b); 

Sol. 

 
 

S3. Ans. (b); 

Sol. 

 
 

S4. Ans. I; 

Sol. 

 
 

S5. Ans. (b);   

Sol. 
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S6. Ans. I; 

Sol. 

Correct meaningful order is :- 

2. Clay 

5. Bricks 

1. Wall 

4. Room  

3. House 

 

S7. Ans. I; 

Sol. 

Neither I nor II follows 

 

S8. Ans. (d); 

Sol. 

 
 

S9. Ans. (a); 

 

S10. Ans. (b); 

 

S11. Ans. (d); 

Sol. 

 
 

S12. Ans. (a); 

Sol. 

 
 

S13. Ans. (c); 

Sol. 

Eight is added to every letter to obtain the corresponding letter of next term. 

 

S14. Ans. (c); 

Sol. 

Each letter of 1st term is moved seven places forward to get 2nd term. So, ‘c’ will be correct. 
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S15. Ans. (b); 

Sol. 2 is subtracted from each digit (4 – 2) (6 – 2) (7 – 2) (3 – 2) = 2451 

 

S16. Ans. (c); 

Sol. 

EAST → 13, 12, 14, 10 

 

S17. Ans. (c); 

Sol. 

wax/wax/wax/wax/wax 

 

S18. Ans. (d); 

Sol. 

TRAIL = (43, 11, 56, 34, 88) 

 

S19.Ans.(c) 

Sol. 

 
Both conclusion follows. 

 

S20. Ans. (d); 

Sol. 

 
 

S21. Ans. (a); 

Sol.  

 
∴ Fod → of  
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S22. Ans. (b);  

Sol. Each letter is moved one letter backward 

 

S23. Ans. (b); 

 

S24. Ans. (c);  

Sol. A + B + C = 60 and A + B = 38,  so C = 22 

 

S25. Ans. (c);  

Sol.  
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